Quiz VI General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 11/10 M 9:30am form A quiz #

Name \Q e/lg’ Name

(print name) (sign name) S wig
Please show work for full credit and to get partial credit. Cao
d’b‘ v

//Qw = ( ’EQ
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1. Considering periodic properties: (5 pts, 2.5 pts each) -
T i1roposite]

Which atom is bigger ? [(O) or [( (circle one)

Which atom has higher jonization energy [(N) {circle one)

2. For the ion for Ca*? , give the electron configuration in the format 1s%, 257, ... etc. (10 pts)
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a. Forthe {xlolecule SH: how many valence elecitons is m the molecule ? Show work. (2 pts)
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b. For the molecule SHz choose the correct Lewis Dot Structure. {1 pt) CQ ,' - 0{ €
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Quiz VI General Chemistry [ Lecture Fall 14 Dr.Hahn 20pts 11/10M 9:30am f(% quiz #
Name k O,L Name

(print name) (sign name)

Please show work for full credlt and 1o get partial credit. ﬁ Sma f/ e 5 (& Q
1. Considering periodic properties: (5 pts, 2.5 pts each)
Which atom is bigger 2 [(Ba) or (Be)] [{ (circle one) b W

Which atom has higher ionization energy [{(N) or (Sb)] (circle one} I' &% 2 f f &5 w
. . L =€

fonratiop in the format 1s%, 257, .... etc. (10 pts)

Extra Credit: (3 pts)

Lewis Dot Structure:
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Quiz VI General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 11/10M 10:30am form A quiz #

Name w Name

(print name) v (sign name)
Please show work for full credit and to get partial credit.

1. Consideting periodic properties: [ 5 pts, 2.5 pts each)

Which atom is bigger 7 r (CDY  {( (circle one)

Which atom has higher ionization energy @or (K)] {circle cne)

2. Forthe ionfor Br! | give the eleciron conﬁguranon inth

b, — 13 258 205 557, 305

b —) 83 {L) Zda })/ ‘}f%

3. Give the Lewis Dot Symboel for the element ¥ ( 5 pts)

Extra Credit: (3 pts)

Lewis Dot Structure;

a. For the molecule PCls how many valence electrons is in the molecule 7 Show work. (2 pts)
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b. For the melecule PCls  choose the correct Lewis Dot Structure. (1 pt) C_C- t rd e & NE’B
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Quiz VI General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 11/10M 10:30am form B quiz # 9 ee’l\

Name k. Q/L\ Name

(print name) (sign name)
Please show work for full credit and to get partial credit.

1.- Considering periodic properties: (5 pts, 2.3 pts each)

Which atom is bigger 7 [(S1) o [( (circle one)

’E (ﬂ Ose Q@ Lo
Which atom has higher ionization energy [(Sn) ocircle one) rﬂﬁ S/ )
2. For the jon for AI*® | give the electron con ul'atloW (10 pts)
TR %
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3. Give the Lewis Dot Symbot for the element Kr ( 5 pts) 0 Cj:%
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a. For the molecule COsY actrons is in thi molecule S Show work. (Z IS}
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Exira Credit: (3 pts)

Lewis Dot Structure:
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Quiz VI General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 11/10 M 9:30am form A quiz #

Name Name
(print name) (sign name)
Please show work for full credit and to get partial credit.

1. Considering periodic properties: { 3 pts, 2.5 pts each)
Which atom is bigger 2 [(O) or (Te)] [( (circle one)
Which atom has higher ionization energy [(N) or (F)] (circle one)

2. For the ion for Ca*? | give the electron configuration in the format 1s%, 2%, ... ete. (10 pts)

3. Give the Lewis Dot Symbol for the element P ( 5 pts})

Extra Credit: (3 pts)
Lewis Dot Structure:

a.  For the molecule SHz how many valence elecirons is in the molecule ? Show work. (2 pts)

b. For the molecule SH2 choose the correct Lewis Dot Structure. (1 pt) ((‘_ ,' - (// ¢ O )
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Quiz VI General Chemistry I Lecture Fall 14 Dr. Hahn 20pts 11/10M 9:30am form B quiz #

Name Name
(print name) (sign name)
Please show work for full credit and to get partial credit.

1. Considering periodic properties: (5 pts, 2.5 pts each)
Which atom is bigger ? [(Ba) or (Be)] [( (circle one)
Which atom has higher ionization energy [{N) or (Sb)] (circle one)

2. For the ion for 82 , give the electron configuration in the format 182, 257, .... etc. (10 pts)

3. Give the Lewis Dot Symbol for the element Se ( 5 pts)

Extra Credit; (3 pts)
Lewis Dot Structure:

a. For the molecule NOs! , how many valence electrons is in the molecule ? Show work. (2 pts)
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b. For the molecule NOs! choose the correct Lewis Dot Structure. (1 pt) ( C ,i v (j'-,[ ¢ One )
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Quiz VI General Chemistry I Lecture Fall 14 Dr. Hahn 20 pts 11/10 M 10:30am form A quiz #

Name Name
(print name) (sign name)
Please show work for full credit and to get partial credit.

1. Consideting periodic properties: (5 pts, 2.5 pts each)
Which atom is bigger ?  [(Si}or (CI)]  [( (circle one)
Which atom has higher ionization energy [(Li) or (K)] {circle one)

2. TFor the ion for Br! | give the electron configuration in the format 1s%, 252, ... ete. (10 pts)

3. Give the Lewis Dot Symbol for the element F (5 pts)

Extra Credit: (3 pts)
Lewis Dot Structure:

a. For the molecule PCl3 how many valence electrons is in the molecule ?  Show work. (2 pts)

b. For the molecule PCls  choose the correct Lewis Dot Structure. (1 pt) C_C { rO{ ¢ @ b\e)
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Quiz VI General Chemistry 1 Lecture Fall 14 Dr. Hahn 20pts 11/10M 10:30am form B quiz #

Name Name
(print name) (sign name)
Please show work for full credit and to get partial credit.

1. Considering periodic properties: ( 5 pts, 2.5 pts each)
Which atom is bigger 2 [(Sr) or (Rb)] [( {circle one)
Which atom has higher ionization energy [(Sn) or (Sb)] (circle one)

2. For the ion for A3, give the electron configuration in the format 15%, 2s%, .... ete. (10 pts)

3. Give the Lewis Dot Symbot for the element Kr ( 5 pts)

Extra Credit: (3 pts)
Lewis Dot Structure:

a. For the molecule CO3Y how many valence electrons is in the molecule ? Show work. (2 pts)

b. For the molecule CO3¥ choose the  correct Lewis Dot Structure. (1 pt) C C { VC{ e 04 )




